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B X =7 x N _koFfEpfz
(a1,b1) =~ (aq, bs) = a1 -ba =by-ay
BT % (a,b) ZRETLE T HHEEEZ ((a,0) €75, Q= X/~ LOHHE # %
((a1,01))#((az,b2)) = ((a1 - ba + az - by, by - by))
WK DEET S L E, HE # IIAEINOMWY HIKFEE T ) FCERTETWVS I L 2Ry,
(B) ((a1,b1)) = ((a1,b1)) 2> ((az,b2)) = ((a2,b2)) £ T 5. ZDEE, (a1,b1) ~ (a1,b1), (az,bo) ~

(5,2,62) "C&)%ﬁ)%, a1-51 =by - a1, GQ'EQ = by - Qs ﬁ)lﬂi@ﬁ’)

(a1 -bg + az - by) - (51 . 52) =(ay 51) - (by - 62) + (asg - 62) (b 61)

(by - a1) - (bg - ba) + (ba - @) - (b1 - b1) = (by - b2) - (a1 - ba + @z - by)

£ 0 (ay-batag-by,by-by) ~ (a1-batan-bi,bi-bo) THBH S, ((ar-batag-bi,by-by)) = ((a1-ba+ag-b,b1-b2))
DY ITD, L7zdio T, HEE # FRFEITUOMWY HIKFEE T ) FLEHRTETCNLS, n



